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Sections 5.2, 5.3 Review Exercises, #25, 29, 33 - 49 odd
Show all work on a SEPARATE sheet of paper

m In Exercises 25-32, verify the identity.

@ cos x(tan®x + 1) = secx

26. sec?xcotx — cotx =

27. cos(t + 7) = —sinx

28. cot(-g - .l‘) = tan x

1
tan fcsc 6 o08 £

|
° tan x csc x sin x

tan x

= cotx

31. sin® xcos?x = (cos?x — 2 cos* x + cos®x) sin x

32. cos? xsin®x = (sin?x — sin*x) cos x

In Exercises 33-38, solve the equation.
@ sinx = ﬁ — sinx
@ 3/3tanu =3

36. %scc_r— 1 =0

34. 4cosB=1+ 2cos @

Jesc?x =4
38, 4tan’u — | = tanu

In Exercises 39-46, find all solutions of the equation in the
interval [0, 277).

@20052.\' —cosx = |
40. 2sin*x — 3sinx = —1
cos’>x + sinx = 1

(43)2sin2c - V2=0

@ cos4x(cosx = 1) =0

42, sinx + 2cosx =2
. J3tan3x =0
46. 3csc?5x = —4

In Exercises 47-50, use inverse functions where needed to
find all solutions of the equation in the interval [0, 27).

sinz_t —2sinx =0
tan28+lan6— 12=20

48. 2cos?x + 3cosx =0

Sections 5.2, 5.3 Review Exercises, #25, 29, 33 - 49 odd
Show all work on a SEPARATE sheet of paper

In Exercises 25-32, verify the identity.

@ cos x(tan?x + 1) = secx

26. sec?xcotx — cotx = tan x

27. co.s-(.r + %r) = —sinx

28. cot(g . _\') = tan x

; = cos f
tan 6 csc 6

1

y —————— .- =cCotx
tan .x ¢sc x sin .x

31. sin® x cos® x = (cos?x — 2 cos*x + cos®x) sinx

32. cos?® x sin? x = (sin? x — sin® x) cos x
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m In Exercises 33-38, solve the equation.
@ sinx = /3 = sinx

3ﬂlanu=3

36. %sec.r -1=0

34, 4cos@ =1+ 2cos @

Jesclx =4
38, 4tanu — 1 =tan’u

In Exercises 39-46, find all solutions of the equation in the
interval [0, 277).

.2c0s21—c0‘.1 1

40. 2sin?x — 3sinx = — 1

cos?x + sinx = 1

(43)2sin2x - V2=0

@ cosdx(cosx — 1) =0

In Exercises 47-50, use inverse functions where needed to
find all solutions of the equation in the interval [0, 27).

@ sinfx — 2sinx =0

mn26+lan8—12=0

42. sinx + 2cosx =2
44, JItan3x =0
46. 3csc?sy = —4

48. 2cos*x + 3cosx =10



In Exercises 25-32, verify the identity.

I
@ cos x(tan®x + 1) = sec x tan fcsc E—O—-?

CosX(sec?x) = N

CoSX (- gbax) = tane C(sCo

S W | E

CosX = sine L.
- Cos®  Sin®

Secx

|.o50 . . sin0 = (o567
516 e )
In Exercises 33-38, solve the equation.

@sin.t:\:}-sin.r 2103 ‘\4\
E | ]

25inX = U3
S’nX = g

@Sﬁ tan i =3

Tanu =
3\53
mﬂM: 53

x=F+amn x= #M2nn

¥ |z ZE‘-Hrn =2 +mn
¥ You can_combi 0€ both answecs to 3 + 1h becuse roc You add
T+ you get 7.

e NL % ls 5
Jcscix =% K
5 oesex= 4 2
3 rx— ¥21n -Zﬂ‘fz;m +2‘Wl g.,u?m

*these can be tombined as: X=F+r7Tn _and 270
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In Exercises 39-46, find all solutions of the equation in the
interval [0, 277).

@En:osz.r— cosx = |

ACOSEX -tosX -1 =0 2X2%2-X-1 <O
(2008 X+ €0SX-1) TO  (2X3)(X=1) =O

205X+ 1 =06 €osX-1=

2Co5Xx = -l Cosx =1
tosx = -% s ‘
i E % X=0

9'=%

|

24y =
COS° X 4 §in X | ¥ Pythag T D

|-$in®X +SinX = |

&>

-S5in*X +Sin¥ =0

=SinX(3nX-1) =0

-SinX = O g SinY-1 <o
SinY =o 90X =1

A N

X=0, X=T [ [x= T
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z
asinz2x=J2 < ‘} d S
sinzx = Vz /2 '
% S~ avNE Ao
sinzy=13 & (2T eamn) L (202 (3742792

QAT A &E G

¥ qeneral solutions
All seloHLVNS iN vhe incval Coy2m):

am ."g:?' %ZT
J J
%-)-g ¥ ADD T 70 G¢1 other Sluhons
\\§-+§8_7r “3‘;".!.8?7?‘ vP o2y

cos dxfcosx - 1) =0

los4) =0 losX-)=0O

/%\ Cosx =1
‘ \ii_,; «@
Y (4X)=(F+omn

"‘ ¥ general solutions

4 (9XF+2m0) 3
A(X= 3+ Irn
ANl stloHons in +he in+trval Co2m): I 4= g

O, 8, 9,5, F.8, & F

) vw ) \_w
Keeo adding™Sf +o B unti' ( yeep adtding f +o SF uah vou
Yov 9et all solutions vP o2 9¢t 4Nl solvtions vf To 27T,
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In Exercises 47-50, use inverse functions where needed to
find all solutions of the equation in the interval [0, 277).

sinz x—=2sinx=0

SInX (s5inX=-2) =

SinY = o Sinx-2 =0
N Sinx =2
<—€ Sir!(2) =X < pomain €rcor
N0 solution ¥2is not in e
X=0 , X=Tr range of SinX

tan~9+lan9—12=0 X2 4% 12 0

TanxX +4 =0 tanx-3 <0
S
Tanx = -4 < "9 A H4nX = 3 < Pos d@
Tan - =x  HE [ tan'(3)=x
X = -1,3258 X= L2990
%—» » 0,27 % ‘—%
0'-1 32
-1.3258 X=)2490 T+ /,2Y40
X 1. 81S8 <7~ 1,3258 X= 4,390¢
X = 4, 952y

¥ EQuivalent to +exT apswer

A = arctan(—4) + nir # = arctan 3 + nw

# = arctan(—4) + . arctan(—4) + 27, arctan 3, arctan 3 + 7
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